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 General Instructions : 

i) The Question-cum-Answer Booklet consists of 54 objective and 

subjective types of questions. 

ii) Space has been provided against each objective type question. You 

have to choose the correct choice and write the complete answer 

along with its letter in the space provided. 

iii) For subjective type questions enough space for each question has 

been provided. You have to answer the questions in the space. 

iv) Follow the instructions given against both the objective and 

subjective types of questions. 

v) Candidate should not write the answer with a pencil. Answers 

written in pencil will not be evaluated.  

vi) In the case of Multiple Choice, Fill in the blanks and Matching 

questions, scratching / rewriting / marking is not permitted, thereby 

rendering them to disqualification for evaluation. 

vii) 15 minutes of extra time has been provided for reading the question 

paper. 

viii) Do not write anything in the space provided in the right side margin. 
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I. Four alternatives are given for each of the following questions / incomplete 

statements. Only one of them is correct or most appropriate. Choose the 

correct alternative and write the complete answer along with its letter in 

the space provided against each question. 15 × 1 = 15 

1. A monkey blocked Bhima’s way and asked him not to go further because  

 (A) it was the path of evil spirits 

 (B) cruel animals were there 

 (C) it was the path of gods 

 (D) it was filled with thorns and rocks. 

2. Bhima was thrilled at 

 (A) seeing Sougandhika flower 

 (B) seeing a huge monkey on his path 

 (C) collecting Sougandhika flowers 

(D) seeing the divine form of his elder brother. 

3. Gandhiji disliked gymnastics and cricket because 

 (A) he thought that they had nothing to do with education 

 (B) he wanted to serve his father 

 (C) he was more interested in studies 

 (D) he had read about the benefits of long walks. 

4. One evening, Gandhiji did not attend gymnastics in time because 

 (A) he was sick 

 (B) he had no watch and the clouds deceived him  

 (C) he was serving his father 

(D) he did not know the exact time of the class. 

5. The Duchess went on strike when 

 (A) her father moved to town from city 

 (B) she remembered her friends 

 (C) she got the parcel with scrap book 

 (D) she got angry with her father. 
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6. When the Duchess was on strike she 

 (A) did not come to the dining table (B) climbed the Apple Tree 

 (C) cried and sobbed (D) refused to eat. 

7. Give one word for, ‘‘a person who lives a wandering life’’. 

 (A) Miser (B) Businessman 

 (C) Vagabond (D) Beggar. 

8. Kalpana was the first India born woman to go ..................... space. 

 The appropriate preposition to be filled in the blank is 

 (A) on (B) from 

 (C) at (D) into. 

9. We found a hotel at last ...................... it was closed.  

 The appropriate conjunction to be filled in the blank is  

 (A) but (B) or 

 (C) than (D) and. 

10. Narendranath was ........................ son of Vishwanath Dutta, .................... 

well known lawyer of Kolkata. 

 The appropriate articles to be filled in the blanks are 

 (A) a, the (B) the, a 

 (C) an, the (D) the, an. 

11. The word that does not rhyme with ‘day’ is 

 (A) say (B) pay 

 (C) cry (D) may. 

12. The word ‘obey’ takes the prefix 

 (A) mis (B) ir 

 (C) ill (D) dis. 

13. As mark of ....................... she sat on a tree. 

 The appropriate word to be filled in the blank is 

 (A) protest (B) protesting 

 (C) protested (D) protestingly. 

14. ‘‘As shines the moon in the clouded skies’’ 

 The figure of speech used in this line is 

 (A) personification (B) metaphor 

 (C) simile (D) alliteration. 



63-E  4  RR + PR 

  RR+PR-Y4041  

15. The sad news was flashed on Saturday night. 

 The underlined word in this sentence is 

 (A) an adverb (B) an adjective 

 (C) a noun (D) a preposition. 

II. Fill in the blanks :   5 × 1 = 5 

16. Fill in the blank with appropriate auxiliary verb given in brackets : 

 How ........................ ( does / do  ) you go home ? 

17. Fill in the blank with appropriate tense form of the verb given in brackets : 

 I .......................... ( buy ) sweets for last night’s party. 

18. The adjective form of ‘truth’ is ..................... . 

19. Fill in the blank with the opposite word to the underlined word : 

 The iron is heavy but the cotton is ...................... . 

20. Choose the correct word from the words given in brackets and fill in the 

blank : 

 His ....................... ( write / right ) hand is hurt. 

III. 

21. Match the words in List-A with their meanings in List-B. Write the correct 

answer in the space provided :    5 × 1 = 5 

    List-A  List-B 

  (a) disciple (i) humour 

  (b) assimilate (ii) to emphasise 

  (c) stress (iii) follower 

  (d) robe (iv) deeply religious 

  (e) wit (v) strict 

     (vi) to understand completely 

     (vii) a long loose piece of clothing. 

IV. Answer each of the following questions in two or three sentences :   

   13 × 2 = 26 

22. Why did the postmaster call Andy’s master ‘a goose’ ? 

23. What qualities did Narendranath inherit from his mother ? 

24. What advice did B. S. Chandrasekar give to young cricketers ? 
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25. How did B. S. Chandrasekar achieve a great name as a bowler even with 

his disadvantage ? 

26. Why were the Indians very much interested in Columbia Spacecraft ? 

27. Why did Kalpana have a great regard for JRD Tata ? 

28. What do many people in Europe think about themselves and the people of 

Asia ? 

29. Why did the District Collector send for Kashibai ? What did he ask her    

for ? 

30. Where according to Tagore, is God to be found ? 

31. ‘‘The bud may have a bitter taste,  

 but sweet will be the flower !’’ 

 What is said about God in these lines ? 

32. What animals and birds would there be in Tartary ? 

33. What did Gabriel Okara want to relearn ? Who did he want to relearn   

from ? 

34. What did the neighbour ask the miser ? What did he say in reply ? 

V. Read the following extracts and answer the questions that follow :  

     5 × 3 = 15 

35. “You are right for once.” 

 a) Whom does ‘you’ refer to ? 

 b) Who is the speaker ? 

 c) Why does the speaker say so ? 

36. “Observing his interest in science, his father encouraged him.” 

 a) Who does ‘him’ refer to ? 

 b) How did his father encourage him ? 

 c) Give the opposite of encourage. 

37. “He is bound to make his mark in life.” 

 a) Who does ‘he’ refer to ? 

 b) Who said this ? 

 c) Why did the speaker say so ? 

38. “British, Quit India.” 

 a) Who kept shouting this slogan ? 

 b) What did she unfurl ? 

 c) Where did it happen ? 
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39. “She was more fair than words can say.’’ 

 a) Who is the ‘she’ ? 

 b) What does ‘fair’ mean ? 

 c) What does the statement mean ? 

VI. 

40. Quote from memory : 4 

 Sweet  …...........………….....………………...…………………  

 ……………………………………………………........................ 

 ......…………....……………………………..…………............... 

 .................................................................  with me ? 

   OR 

 Blind  unbelief ...…………...............……………………….....  

 ……………….…………………………………....……....….......... 

 ............……………………………………………………............. 

 ………………………………….....…........................  it plain. 

VII. Answer each of the following questions in five or six sentences : 2 × 4 = 8 

41. How did Daksha win over the king ? 

OR 

 What according to Nehru, are the signs of civilization ? 

42. Describe the poet’s mother in the poem ‘Mother’. 

OR 

 What is the central idea of the poem ‘God Moves In A Mysterious Way’ ? 

VIII. Rewrite as directed :  

43. Change the following sentence into passive voice : 1 

 The villagers caught the thief. 

44. Frame a question to get the underlined word as answer : 1 

 Kumar went to Tumkur yesterday. 

45. Combine the sentences using ‘too ... to’ :   1 

 The box is heavy. I cannot lift. 

46. Combine the sentences using ‘neither ... nor’ :  1 

 He is not intelligent. 

 He is not hardworking. 
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47. Change into indirect speech :   2 

 She said, ‘‘Did the king talk to all who went with you ?’’ 

48. Write the other two degrees of comparison.  2 

 Rama is the strongest boy in the class. 

Positive :    

Comparative :    

IX. 

49. Imagine that you are Salma / Saif studying in Std. X in Govt. High School, 

Jayanagar.   

 Write a letter to your father requesting him to send Rs. 500 for your school 

trip.    5  

OR 

 Write a letter to your friend describing the celebration of your School Day. 

X.  

50. Write a paragraph on any one of the following topics : 1 × 5 = 5 

 a) Air pollution 

 b) National leaders 

 c) Television. 

XI. Read the following passage and answer the questions that follow :  

One day, Mullah Nasruddin lost his ring in the basement of his 

house. It was very dark there. So Mullah Nasruddin could not see 

anything. He went out into the street and started looking for it there. A 

passerby stopped and asked him, ‘‘What are you looking for ? Have you 

lost anything ?’’  

‘‘I am looking for ring. I lost it in the basement of my house,’’ said 

Mullah Nasruddin. 

‘‘But why are you looking for it here ? Look for it where you lost it,’’ 

said the passerby. 

‘‘Don’t be silly, man. How do you expect me to find it in that 

darkness ?’’ replied Mullah Nasruddin. 

51. What did Mullah Nasruddin lose ?   1 

52. Where did he search for his ring ?   1 

53. What did the passerby ask him ?   1 

54. What did Mullah Nasruddin reply ?   1 


